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Eg1. Savings is what % of total income?

(cpr dqy vk; dk fdrus izfr'kr gS\)

Savings
??

Food
24%

Education
20%

Rent
20%

Clothes
10%

Eg2. Amount spent on food is what % more than
the amount spent on education?

(•kus ij O;;] f'k{kk ij O;; ls fdruk çfr'kr vf/d
gS\)

Directions (Q.1–5) : Study the following chart
carefully and answer the questions given below
it:

(v/ksfyf•r xzkiQ dk lko/kuhiwoZd vè;;u djsa] vkSj uhps
fn, x, ç'uksa dk mÙkj nsaA)

Expenditure incurred in publication and
sales of books

(fdrkcksa ds çdk'ku vkSj fcØh dk O;;)

P
a
p
e
r

1
0
%

R
oy

al
ty

1
5
%

Adverti-
sement

18%
Binding

18%

Printing
35%

O
th

e
rs

 

4
%

1. If printing expenses was 24500, then what
was the expenditure on royalty?

;fn eqæ.k O;; 24500 :i;s Fkk] rks jkW;YVh ij O;;
D;k Fkk\
(a) Rs 8750
(b) Rs 10500
(c) Rs 9500
(d) Rs 12000

2. The central angle of the sector of printing
expenditure is how much larger than the
angle of the sector of advertisement
expenditure?

eqæ.k O;; ds {ks=k dk dsaæh; dks.k foKkiu O;; ds
dsUæh; dks.k ls fdruk cM+k gS\
(a) 61.2° (b) 70°

(c) 54.8° (d) 72°

3. The paper cost is approximately what per
cent of the printing expenditure?

dkxt dh ykxr yxHkx NikbZ ds •pZ dk fdruk
çfr'kr gS\
(a) 25.2% (b) 30%
(c) 28.6% (d) 32.5%

4. If other expenditure is Rs 8000, then
binding expenditure is how much more
than royalty?

;fn vU; O;; :i;s 8000 gS] rks ckbafMax O;; jkW;YVh
ls fdruk vf/d gS\
(a) Rs.9750 (b) Rs.6500
(c) Rs.8000 (d) Rs.6000

5. What is the central angle for the sector of
advertisement?

foKkiu ds {ks=k ds fy, dsaæh; dks.k D;k gS\
(a) 90° (b) 45°
(c) 76° (d) 64.8°

6. The given Pie-Chart shows the degree wise

breakup of expenditure of a family in a

month. Total income of a family is Rs. 43200.

fn;k x;k ikbZ vkjs[k] ,d eghus esa fdlh ifjokj ds
O;; dk fMxzh&okj fooj.k n'kkZrk gSA ifjokj dh dqy
vk; 43200 :i;s gSA

The amount spent on food is what percent

of the savings and miscellaneous

expenses?

[kk| ij [kpZ dh xbZ jkf'k] cpr vkSj iQqVdj O;;ksas
dk fdruk izfr'kr gS\

SSC CGL 2020

(a) 84% (b) 75%

(c) 90% (d) 60%

DATA INTERTRETATION
(PIE CHART)
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7. The pie chart shows the percentage

distribution of a total of 800 employees in

different departments of a company.

fn;k x;k ikbZ vkjs[k fdlh daiuh ds vyx&vyx
foHkkxksa esa dqy 800 deZpkfj;ksa ds izfr'kr forj.k dks
n'kkZrk gSA

How many employees are working in the

field of marketing?

ekdsZfVax ds {ks=k esa fdrus deZpkjh dk;Zjr gS\

SSC CGL 2020

(a) 240 (b) 120

(c) 200 (d) 176

8. The given Pie-Chart shows the degree wise

breakup of expenditure of a family in a

month. Total income of a family is Rs.

43200.

fn;k x;k ikbZ vkjs[k] ,d eghus esa fdlh ifjokj ds
O;; dk fMxzh&okj fooj.k n'kkZrk gSA ifjokj dh dqy
vk; 43200 :i;s gSA

Expenditure on food is what percent more

than expenditure on rent?

fdjk, ij O;; dh rqyuk esa [kk| ij O;; fdruk
izfr'kr vf/d gS\

SSC CGL 2020

(a) 200/3% (b) 50%

(c) 50/3% (d) 100/3%

9. Pie-Chart shows the degree wise breakup

of expenditure of a family in a month.

Total income of the family is Rs 144000.

fn;k x;k ikbZ vkjs[k] ,d eghus esa fdlh ifjokj ds
O;; dk fMxzh&okj fooj.k n'kkZrk gSA ifjokj dh dqy
vk; 144000 :i;s gSA

What is the expenditure (in Rs) on

education?

f'k{kk ij O;; (:i;s esa) Kkr djsaA

SSC CGL 2020

(a) 24,000 (b) 20,000

(c) 12,000 (d) 36,000

10. The pie graph shows the distribution of

employees working in five departments A,

B, C, D and E of a company. Total number

of employees = 900

ikbZ vkjs[k] fdlh daiuh ds A, B, C, D vkSj E ikap
foHkkxksa esa dk;Zjr deZpkfj;ksa ds (fMxzh okj) forj.k
dks n'kkZrk gSA deZpkfj;ksa dh dqy la[;k = 9000

Distribution (degree wise) of the employ

yees working in five departments A,B, C,

D and E in a company

If the number of employees working in

department A is x and the total number of

employees working in departments C and

E is y, then the value of y-2x is:
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;fn foHkkx A esa dk;Zjr deZpkfj;ksa dh la[;k  x gS
vkSj foHkkx C vkSj E esa dk;Zjr deZpkfj;ksa dh dqy
la[;k y gS] rks y – 2x dk eku Kkr djsaA

SSC CGL 2020

(a) 915 (b) 850

(c) 725 (d) 1000

Direction (11-13): Study the given pie chart and

answer the question that follows.

The pie chart shows the distribution

(degree-wise) of the students who appeared in

the annual examination from institutes P, Q, R,

S and T in 2020. The total number of students

who appeared is 3000.

fuEukafdr ikbZ pkVZ dk vè;;u djsa vkSj mlds ckn
fn, x, iz'u dk mÙkj nsaA ikbZ  pkVZ] 2020 esa laLFkku P, Q,

R, S vkSj T ls okf"kZd ijh{kk esa mifLFkr gksus okys Nk=kksa ds
forj.k (fMxzh ckj) dks n'kkZrk gSA mifLFkr Nk=kksa dh dqy
la[;k 3000 gSA

11. The average number of students who

appeared in the examination from the

institutes Q, S and T exceeds the number

of students who appeared from institute R

by x. The value of x lies between:

laLFkkuksa Q, S vkSj T ls ijh{kk esa cSBus okys Nk=kksa dh
vkSlr la[;k] laLFkku R ls mifLFkr gksus okys Nk=kksa
dh la[;k ls X vf/d gSA X dk eku buds chp gS%

SSC PHASE IX 2022

(a) 9 to 14 (b) 14 to 18

(c) 23 to 27 (d) 18 to 22

12. The number of students who appeared in

the examination from institute P is what

per cent of the total number of students

who appeared from the institutes Q, R and

S (correct to one decimal place)?

laLFkku P ls ijh{kk esa cSBus okys Nk=kksa dh la[;k]
laLFkkuksa Q, R vkSj S (,d n'keyo LFkku rd lgh)
ls mifLFkr gksus okys Nk=kksa dh dqy la[;k dk fdruk
çfr'kr gS\

SSC PHASE IX 2022

(a) 27.2 (b) 26.4

(c) 26.9 (d) 25.8

13. The ratio of the number of boys and girls

who appeared in the examination from

institutes S and T are 11:12 and 5:4,

respectively. What is the difference

between the total number of boys who

appeared from institutes S and T and the

total number of girls who appeared from

these two institutes?

laLFkku S  vkSj T ls ijh{kk esa mifLFkr yM+dksa vkSj
yM+fd;ksa dh la[;k dk vuqikr Øe'k% 11 % 12 vkSj
5 % 4 gSA laLFkku S vkSj T ls mifLFkr yM+dksa dh
dqy la[;k vkSj bu nksuksa laLFkkuksa ls mifLFkr yM+fd;ksa
dh dqy la[;k ds chp dk varj fdruk gS\

SSC PHASE IX 2022

(a) 24 (b) 20

(c) 23 (d) 17

Direction (14 - 15): Study the given graph and

answer the question that follows.

fn, x, xzkiQ dk vè;;u djsa vkSj uhps fn, x, ç'u dk
mÙkj nsaA

A
93.6°

B
64.8°

C
54°

D
72°

E
75.6°

Breakup (degreewise) of the number of 
employees working in departments

A, B, C, D and E of company

14. Number of employees in Department B = 432

The total number of employees working in
offices A and E is what percentage more
than the total number of employees

working in offices B and C?

dk;kZy; A vkSj E esa dk;Zjr deZpkfj;ksa dh dqy la[;k]
dk;kZy; B vkSj C esa dk;Zjr deZpkfj;ksa dh dqy la[;k
ls fdrus izfr'kr vf/d gS\

SSC PHASE IX 2022

(a)
14

42 %
33

(b)
14

41 %
33

(c)
14

40 %
33

(d)
14

45 %
33
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15. If the ratio of the male and female

employees working in department A is

5:11, and 40% of the employees in

department C are females, then what is the

ratio of the number of female employees

in department A to that of male employees

in department C?

;fn foHkkx A esa dk;Zjr iq#"k vkSj efgyk deZpkfj;ksa
dk vuqikr 5 % 11 gS] vkSj foHkkx C esa 40» deZpkjh
efgyk,a gSa] rks foHkkx A esa efgyk deZpkfj;ksa dh la[;k
dk foHkkx C  esa iq#"k deZpkfj;ksa dh la[;k ls vuqikr
fdruk gS\

SSC PHASE IX 2022

(a) 100 : 91 (b) 113 : 75

(c) 111 : 124 (d) 143 : 72

16. The following Pie chart represents the

percentage-wise distribution of 300

students of class X in a school in six

different sections A, B, C, D, E and F.

fuEu ikbZ pkVZ A, B, C, D, E vkSj F N% fHkUu&fHkUu
oxksZa a esa fdlh fo|ky; esa d{kk X ds 300 fo|kfFkZ;ksa
ds izfr'kr okj forj.k dks fu:fir djrk gSA

The table given below shows the number

of boys of class X in six different section

A, B, C, D, E and F.

nh xbZ rkfydk A, B, C, D, E vkSj F N% fHkUu&fHkUu
oxksZa esa d{kk X ds yM+dksa dh la[;k dks n'kkZrh gSA

A B C D E F

36 26 34 28 x 20

If in section E, the ratio of the number of

boys to the number of girls is 3 : 4, then

the ratio of number of boys in section E

to the number of girls in section C is:

;fn oxZ E esa] yM+dksa dh la[;k vkSj yM+fd;ksa dh
la[;k dk vuqikr 3 % 4 gS] rks oxZ E esa yM+dksa dh
la[;k vkSj oxZ C esa yM+fd;ksa dh la[;k ds chp dk
vuqikr Kkr djsaA

SSC CGL 2020

(a) 18 : 23

(b) 24 : 23

(c) 23 : 18

(d) 23 : 24

17. The following Pie chart represents the

percentage-wise distribution of 800

students of class XII in a school in six

different sections A, B, C, D, E and F.

fuEu ikbZ pkVZ A, B, C, D, E vkSj F Ng fHkUu&fHkUu
oxksZa a esa d{kk XII ds 800 fo|kfFkZ;ksa ds izfr'kr okj
forj.k dks fu:fir djrk gSA

The table given below shows the number

of girls of class XII in six different sections

A, B, C, D, E and F.

nh xbZ rkfydk A, B, C, D, E vkSj F Ng fHkUu&fHkUu
oxksZa esa d{kk XII dh yM+fd;ksa dh la[;k n'kkZrh gSA

A B C D E F

102 80 104 98 0 60

The total number of girls in sections B, C

and D together is what percent more than

the total number of boys in sections A, B

and D together?

,d lkFk oxZ A, B vkSj D eas yM+dksa dh dqy la[;k
dh rqyuk eas ,d lkFk oxZ B, C vkSj D esa yM+fd;ksa
dh la[;k dqy fdrus izfr'kr vf/d gS\

SSC CGL 2020

(a) 76.25%

(b) 50%

(c) 80%

(d) 65.75%
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18. The following pie charts represent the

distribution of candidates who were

enrolled for a competitive examination,

and the candidates (out of those enrolled)

who passed the exam from five different

institutes P, Q, R, S and T.

fuEu ikbZ vkjs[k] ikap vyx&vyx laLFkkuksa P, Q, R,

S vkSj T ls fdlh izfr;ksxh ijh{kk ds fy, ukekafdr
mEehnokjksa vkSj (ukekafdr esa ls) ijh{kk mÙkh.kZ djus
okys mEehnokjksa ds forj.k dks fu:fir djrk gSA

What is the ratio of the total number of

candidates enrolled in institutes Q, R and

S together, to the number of candidates

passed from the institutes Q, R and S

together?

laLFkkuksa Q, R vkSj S esa ukekafdr mEehnokjksa dh dqy
la[;k vkSj laLFkkuksa Q, R vkSj S ls mÙkh.kZ mEehnokjksa
dh dqy la[;k dk vuqikr Kkr djsaA

SSC CGL 2020

(a) 15 : 71

(b) 71 : 15

(c) 44 : 75

(d) 75 : 44

19. The following Pie charts represent the

distribution of candidates who were

enrolled for competitive examination and

the candidates (out of those enrolled) who

passed the exam from five different

institutes P, Q, R, S and T.

fuEu ikbZ pkVZ mu mEehnokjksa dk forj.k dks fu:fir djrk
gS tks fdlh izfr;ksxh ijh{kk ds fy, ukekafdr Fks vkSj os
mEehnokj (mu ukekafdrksa esa ls) ftUgksaus P, Q, R, S vkSj
T ikap fHkUu&fHkUu laLFkkuksa ls ijh{kk mÙkh.kZ dh FkhA

Figure (i) Total number of candidates

enrolled in five different institutes = 7500

Figure (i) ikap fHkUu&fHkUu laLFkkuksa esa ukekafdr
mEehnokjksa dh dqy la[;k = 7500

  

Figure (ii) Total number of candidates

passed the examination from five

institutes = 4000

Figure (ii) ikap fHkUu&fHkUu laLFkkuksa ls ijh{kk mÙkh.kZ
djus okys mEehnokjksa dh dqy la[;k = 4000

What is the pass percentage for institute

Q? (correct upto one decimal place.)

laLFkku Q ls mÙkh.kZ gksus okys Nk=kksa dk izfr'kr Kkr
djsaA (n'keyo ds ,d LFkku rd)

SSC CGL 2020

(a) 42.7% (b) 80%

(c) 48% (d) 71.1%

Directions (20-22):- Answer the questions
on the basis of the information given
below:

uhps nh xbZ tkudkjh ds vk/kj ij ç'uksa ds mÙkj nsa%
In the following pie-charts the percentage
of employees of a company working in 8
different countries has been given.

fuEufyf•r ikbZ&pkVZ esa 8 fofHkUu ns'kksa esa dke djus
okyh daiuh ds deZpkfj;ksa dk çfr'kr fn;k x;k gSA

Total number of employees = 86000 

VII
7%

VIII
8% I

18%

II
12%

III
8%

IV
14%

V
17%

VI
16%
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Total number of male employees = 56000 

VII
9%

VIII
8% I

15%

II
10%

III
12%

IV
18%

V
18%

VI
7%

Note: Roman digits show the countries

20. What is the ratio between the number of
male employees and female employees in
country II?

ns'k II esa iq#"k deZpkfj;ksa vkSj efgyk deZpkfj;ksa dh
la[;k ds chp vuqikr D;k gS\
(a) 70 : 53 (b) 70 : 31

(c) 70 : 59 (d) 53 : 70

21. What is the approximate average number
of male employees in countries I, II and
III?

I] II vkSj III ns'kksa esa iq#"k deZpkfj;ksa dh vuqekfur
vkSlr la[;k D;k gS\
(a) 9670 (b) 6970

(c) 6907 (d) 6977

22. By what percent is the total number of
employees in countries V, VI and VII more
than the number of male employees
working in the countries II, III and IV?

ns'kksa] V] VI vkSj VII esa dqy deZpkfj;ksa dh la[;k
II] III vkSj IV ns'kksa esa dk;Zjr iq#"k deZpkfj;ksa dh
la[;k ls fdrus çfr'kr vf/d gS\
(a)  50.2% (b)  53.6%

(c)  55% (d)  48%

23. Pie-chart shows the distribution of

percentage of students in various courses.

ikbZ vkjs[k] fofHkUu ikB~;Øeksa esa Nk=kksa ds izfr'kr forj.k
dks n'kkZrk gSA

    

B.Sc 
Maths 
20% 

B.Sc  
Phy 
10% 

B.Sc 
Chem 
12% B.Sc C.Sci 

25% 

B. Com 
20% 

BBA 
13% 

Total number of students is 1400 

Percentage-Wise distribution of number of

boys:/yM+dksa dh la[;k dk izfr'kr okj forj.k%

Course Number of boys

B.Sc Maths 40%

B.Sc Physics 68%

B.Sc Chem 58%

B.Sc C.Sci 80%

B.Com 75%

BBA 65%

What is the ratio of number of girls in B.Sc.

Maths to number of boys in B.Sc. C.Sci.?

ch-,l lh xf.kr esa yM+fd;ksa dh la[;k vkSj ch-,llh
dEI;wVj foKku esa yM+dksa dh la[;k dk vuqikr Kkr djsaA

SSC CGL 2020

(a) 2 : 7 (b) 3 : 5

(c) 5 : 3 (d) 7 : 2

24. The pie-chart given below shows the

number of laptops in an office provided by

six different companies in the percentage

of total number of laptops. The central

angles given in the pie chart are not

accurate to any scale.

uhps fn;k x;k ikbZ&pkVZ Ng vyx&vyx daifu;ksa }kjk
miyC/ djk, x, ySiVkWi dh dqy la[;k ds çfr'kr
esa ,d dk;kZy; esa ySiVkWi dh la[;k dks n'kkZrk gSA
ikbZ pkVZ esa fn, x, dsaæh; dks.k fdlh Hkh iSekus ij
lVhd ugha gSaA

To what degree is the corresponding

central angle (to one decimal place) of

laptops provided by company C6?

daiuh C6 }kjk miyC/ djk, x, ySiVkWi dk laxr dsaæh;
dks.k (,d n'keyo LFkku rd) fdl fMxzh rd gS\

SSC MTS- 2 August 2019 (Afternoon)

(a) 51.7°

(b) 45.1°

(c) 39.6°

(d) 52.8°
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25. The pie-chart given below shows the num-

ber of laptops in an office provided by six

different companies in the percentage of

total number of laptops. The central angles

given in the pie chart are not accurate to

any scale.

uhps fn;k x;k ikbZ&pkVZ Ng vyx&vyx daifu;ksa }kjk
miyC/ djk, x, ySiVkWi dh dqy la[;k ds çfr'kr
esa ,d dk;kZy; esa ySiVkWi dh la[;k dks n'kkZrk gSA
ikbZ pkVZ esa fn, x, dsaæh; dks.k fdlh Hkh iSekus ij
lVhd ugha gSaA

What is the ratio of the number of laptops

of company C1 to those of company C3 ?

daiuh C1 ds ySiVkWi dh la[;k dk daiuh C3 ds ySiVkWi dh

la[;k ls vuqikr fdruk gS\

SSC MTS - 2 August 2019 (Afternoon)

(a) 2 : 1 (b) 12 : 11

(c) 2 : 3 (d) 6 : 11

26. The pie-chart given below shows the num-

ber of laptops in an office provided by six

different companies in the percentage of

total number of laptops. The central angles

given in the pie chart are not accurate to

any scale.

uhps fn;k x;k ikbZ&pkVZ Ng vyx&vyx daifu;ksa }kjk
miyC/ djk, x, ySiVkWi dh dqy la[;k ds çfr'kr
esa ,d dk;kZy; esa ySiVkWi dh la[;k dks n'kkZrk gSA
ikbZ pkVZ esa fn, x, dsaæh; dks.k fdlh Hkh iSekus ij
lVhd ugha gSaA

If the total number of laptops in office is

3800, then find the difference between the

laptops of company C2 and C5 ?

;fn dk;kZy; esa ySiVkWi dh dqy la[;k 3800 gS] rks
daiuh C2 vkSj C5 ds ySiVkWi ds chp dk varj Kkr
dhft,\

SSC MTS- 2 August 2019 (Afternoon)

(a) 382 (b) 362

(c) 342 (d) 322

27. The given pie chart shows the percentage

of students enrolled i nto the colleges A, B,

C, D, E and F in a c ity, and the table shows

the ratio of boys to girls in the college.

fn;k x;k ikbZ pkVZ 'kgj esa dkWyst A, B, C, D, E

vkSj F esa ukekafdr Nk=kksa dk çfr'kr fn•krk gS] vkSj
rkfydk dkWyst esa yM+dksa vkSj yM+fd;ksa ds vuqikr
dks n'kkZrh gSA

A   9  :  4

B 5 : 9

C 3 : 4

D 7 : 2

E 1 : 4

F 3 : 2

  

  

  

  

    

Based on this information, if the total

number of students is 9800, then the

number of girls in the college B is:

bl tkudkjh ds vk/kj ij] ;fn Nk=kksa dh dqy la[;k
9800 gS] rks dkWyst B esa yM+fd;ksa dh la[;k gS%

CHSL 18-03-2020 (Morning shift)

(a) 560

(b) 280

(c) 1008

(d) 504
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28. Study the pie-chart and the table carefully

and answer the questions that follow. The

percentage distribution of lecturers in five

different subjects in a university is shown

in the pie-chart. The total n umber of lec-

turers is 500.

ikbZ&pkVZ vkSj rkfydk dk è;kuiwoZd vè;;u djsa vkSj
uhps fn, x, ç'uksa ds mÙkj nsaA ,d fo'ofo|ky; esa
ikap vyx&vyx fo"k;ksa esa O;k[;krkvksa dk çfr'kr
forj.k ikbZ&pkVZ esa fn•k;k x;k gSA O;k[;krkvksa dh
dqy la[;k 500 gSA

Ratio of male to female lecturers:

iq#"k ls efgyk O;k[;krkvksa dk vuqikr%

Lecturers           Male : Female

Mathematics           7 : 3

Physics                   2 : 3

Chemistry              4 : 1

Botany                   3 : 5

Zoology                   2 : 5

What is the difference in the number of

female lecturers in chemistry and

Mathematics?

jlk;u foKku vkSj xf.kr esa efgyk O;k[;krkvksa dh
la[;k esa fdruk varj gS\

CHSL 19-10-2020 (Morning shift)

(a) 30 (b) 22

(c) 20 (d) 25

29. Study the pie-chart and the table carefully

and answer the questions that follow. The

percentage distribution of lecturers in five

different subjects in a university is shown

in the pie-chart. The total n umber of

lecturers is 500.

ikbZ&pkVZ vkSj rkfydk dk è;kuiwoZd vè;;u djsa vkSj
uhps fn, x, ç'uksa ds mÙkj nsaA ,d fo'ofo|ky; esa
ikap vyx&vyx fo"k;ksa esa O;k[;krkvksa dk çfr'kr
forj.k ikbZ&pkVZ esa fn•k;k x;k gSA O;k[;krkvksa dh
dqy la[;k 500 gSA

Ratio of male to female lecturers:

iq#"k ls efgyk O;k[;krkvksa dk vuqikr%

Lecturers           Male : Female

Mathematics           7 : 3

Physics                   2 : 3

Chemistry              4 : 1

Botany                   3 : 5

Zoology                   2 : 5

Find the n umber of male lecturers in

Physics

HkkSfrdh esa iq#"k O;k[;krkvksa dh la[;k Kkr dhft,

CHSL 15-10-2020 (Morning shift)

(a) 42

(b) 46

(c) 44

(d) 40

30. The given pie chart shows the percentage

of students enrolled for the courses, A, B,

C, D and E in  a univesity and the table

shows the percentage of students that

passed, out of the enrolled students.

fn;k x;k ikbZ pkVZ ,d fo'ofo|ky; esa ikBÔØe]
A, B, C, D, E vkSj F ds fy, ukekafdr Nk=kksa dk
çfr'kr n'kkZrk gS vkSj rkfydk ukekafdr Nk=kksa esa ls
mÙkh.kZ Nk=kksa dk çfr'kr n'kkZrh gSA
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Courses % passed out

A 76

B 82

C 80

D 90

E 75

If the total number of students is 60000,

then the total number of students who did

not pass in the courses A, C is :

;fn Nk=kksa dh dqy la[;k 60000 gS] rks ikBÔØeksa esa
ikfjr djus okys Nk=kksa dh dqy la[;k A, C gS%

CHSL 14 - 10-2020 (Afternoon Shift)

(a) 7852 (b) 4992

(c) 8254 (d) 7628

Direction (31 - 32) : Study the given pie chart

that represents the percentage population of six

villages A, B, C, D, E and F in 2020, and answer

the question that follows.

fn, x, ikbZ pkVZ dk vè;;u djsa tks 2020 esa Ng
xkaoksa A, B, C, D, E vkSj F dh izfr'kr vkcknh dks n'kkZrk
gS] vkSj uhps fn, x, iz'u dk mÙkj nsaA

Village % of population below poverty low

A 30

B 45

C 55

D 60

E 58

F 40

31. The difference between the central angles

of the sectors representing the percentage

population of villages D and F is:

xk¡o D vkSj F dh çfr'kr tula[;k dk çfrfuf/Ro
djus okys lsDVj ds eè; dks.k ds chp dk varj gS%

SSC PHASE IX 2022

(a) 15° (b) 18°

(c) 25° (d) 22°

32. If the population below poverty line in

village D is 42,000, then the total

population in all the six villages taken

together is:

;fn xk¡o D esa xjhch js•k ds uhps dh tula[;k 42]000
gS] rks lHkh Ng xk¡oksa dh dqy tula[;k dks feykdj gS%

SSC PHASE IX 2022

(a) 3,00,000 (b) 3,50,000

(c) 2,80,000 (d) 2,95,000

Direction (33-35): The given pie-chart shows the

number of tourists for the year 2015, travelling

from India and to India. /fn;k x;k ikbZ pkVZ o"kZ 2015
esa Hkkjr ls vkSj Hkkjr dh ;k=kk djus okys i;ZVdksa dh la[;k
n'kkZrk gSA

33. In the given pie-chart, if 1657850 is the

total number of tourists visiting India, how

many visited from Australia:

fn, x, ikbZ&pkVZ esa] ;fn 1657850 Hkkjr vkus okys
i;ZVdksa dh dqy la[;k gS] rks vkWLVªsfy;k ls fdrus
i;ZVd vk,%

SSC CPO 15 March 2019 (Morning)

(a) 563669

(b) 589320

(c) 457602

(d) 331570

34. In the given pie-chart, from which coun-

try tourists have come to India more than

Indians going to that country:

fn, x, ikbZ&pkVZ esa] ml ns'k esa tkus okys Hkkjrh;ksa
ls vf/d i;ZVd fdl ns'k ls Hkkjr vk, gSa%

SSC CPO 15 March 2019 (Morning)

(a) Australia and Africa

(b) Europe

(c) USA

(d) Australia only
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35. In the given pie-chart, if the number of

tourists visiting India is 21,35,600 and the

number from India to other countries is

20,45,450. How many more people visit

the USA from India than from the USA to

India?

fn, x, ikbZ&pkVZ esa] ;fn Hkkjr vkus okys i;ZVdksa
dh la[;k 21]35]600 gS vkSj Hkkjr ls vU; ns'kksa esa
vkus okys i;ZVdksa dh la[;k 20]45]450 gSA la;qÙkQ jkT;
vesfjdk ls Hkkjr dh rqyuk esa Hkkjr ls fdrus vf/d
yksx la;qÙkQ jkT; vesfjdk tkrs gSa\

SSC CPO 15 March 2019 (Morning)

(a) 303833 (b) 358097

(c) 342675 (d) 287698

36. The given bar graph shows the biscuit ex-

ports of India over a period of five years.

Study the graph and answer the question

that follows.

fn;k x;k ckj xzkiQ ikap o"kks± dh vof/ esa Hkkjr ds
fcLdqV fu;kZr dks n'kkZrk gSA xzkiQ dk vè;;u djsa
vkSj uhps fn, x, ç'u dk mÙkj nsaA

In which year, the percentage increase in

exports was maximum from its preceding

year:

fdl o"kZ esa] fu;kZr esa çfr'kr o`f¼ mlds iwoZorhZ o"kZ
ls vf/dre Fkh%

CHSL 19-03-2020 (afternoon shift)

(a) 2009 (b) 2006

(c) 2008 (d) 2007

Direction (37-38): Study the following pie-chart

and table to answer the question

ç'u dk mÙkj nsus ds fy, fuEufyf•r ikbZ&pkVZ vkSj
rkfydk dk vè;;u djsa

Total number of students admitted in a

university in various fields = 5000

Distribution of the number of students into

various fields:

,d fo'ofo|ky; esa fofHkUu {ks=kksa esa ços'k ysus okys
Nk=kksa dh dqy la[;k ¾ 5000

fofHkUu {ks=kksa esa Nk=kksa dh la[;k dk forj.k%

37. What is the average number of boys in CS,

ECE and EEE Fields?

CS, ECE vkSj EEE iQhYM esa yM+dksa dh vkSlr la[;k
D;k gS\

CGL 2019 Tier-II (18-11-2020 )

(a) 406 (b) 506

(c) 514 (d) 516

38. What is the difference between the num-

ber of girls in IT and number of girls in

ECE?

IT esa yM+fd;ksa dh la[;k vkSj ECE esa yM+fd;ksa dh
la[;k ds chp fdruk varj gS\

CGL 2019 Tier-II (18-11-2020)

(a) 25

(b) 21

(c) 20

(d) 30
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Direction (39 - 41): Study the given graph and

answer the question that follows.

fuEukafdr xzkiQ dk vè;;u djsa vkSj mlds ckn fn,
x, iz'u dk mÙkj nsaA

 

A 
B 

C 
D 

E

112°
98°

40°

60°
50°

A 
B 

C 
D 

E

30%
22%

10%

18%
20%

Distribution (degree wise)

of students appeared in the

examination from institute

A, B, C, D & E

laLFkku vkSj ls ijh{kk

esa 'kkfey gksus okys Nk=kksa dk forj.k
(fMxzh okj) 

A, B, C, D E 

Distribution 

(percent wise) passed in the

examination from institute

A, B, C, D & E

of students

laLFkku vkSj ls ijh{kk

esa mÙkh.kZ gksus okys Nk=kksa dk forj.k
(çfr'kr okj) 

A, B, C, D E  

Total Number of Students

appeared = 1800

'kkfey gq, dqy Nk=k = 1800

Total Number of Students

passed = 1200

mÙkhZ.k gq, dqy Nk=k = 1200

39. The number of students who passed from

institute C exceeds the number of students

who appeared from institute E is x. The

value of x lies between:

laLFkku C ls mÙkh.kZ gksus okys Nk=kksa dh la[;k laLFkku
E ls mifLFkr gksus okys Nk=kksa dh la[;k x ls vf/d
gSA x dk eku buds chp gS\

SSC CGL MAINS 03 Feb 2022

(a) 18 and 22 (b) 14 and 18

(c) 10 and 14 (d) 22 and 26

40. The number of students who appeared from

institute B is what percentage more than

the total number of students who passed

from institutes A and C?

laLFkku B ls mifLFkr gksus okys Nk=kksa dh la[;k] laLFkku
A vkSj C ls mÙkh.kZ gksus okys Nk=kksa dh dqy la[;k ls
fdrus izfr'kr vf/d gS\

SSC CGL MAINS 03 Feb 2022

(a)
2

16
3

% (b)
1

15
3

%

(c)
1

14
7

% (d)
2

7
7

%

41. If the ratio of the number of boys to that

of the girls who passed from institute A is

5:6, and 40% of the students who passed

from institute D are boys, then the ratio

of the number of boys who passed from

institute A to that of boys who passed from

institute D is:

;fn laLFkku A ls mÙkh.kZ gksus okys yM+dksa dh la[;k
dk] mlh laLFkku ls mÙkh.kZ gksus okyh yM+fd;ksa ls vuqikr
5 : 6 gS vkSj laLFkku D ls mÙkh.kZ gksus okys Nk=kksa esa
ls 40% yM+ds gSa] rkss laLFkku A ls mÙkh.kZ gksus okys
yM+dksa dh la[;k dk] laLFkku D ls mÙkh.kZ yM+dksa dh
la[;k ls vuqikr fdruk gksxk\

SSC CGL MAINS 03 Feb 2022

(a) 25 : 24

(b) 4 : 3

(c) 5 : 4

(d) 3 : 2

Direction (42-44): Study the given pie charts and

answer the question that follows.

fuEukafdr ikbZ pkVksZa dk vè;;u djsa vkSj mlds ckn
fn, x, iz'u dk mÙkj nsaA

  

A
72°

E39°

D
105°

C
90°

B
54°

Distribution (degree wise) of 
students appeared in the 
examination from institutes
A, B, C, D & E 

Total Number of students
appeared = 1200

   

A
15%

E9%

D
28%

C
30%

B
18%

Distribution of students (percent wise) 
passed in the examination from institutes
A, B, C, D & E

Total Number of students
passed = 900

42. Which institute has the second highest

percentage of students who passed to the

students who appeared from that

institute?

fdl laLFkku dk ml laLFkku ls ijh{kk eas 'kkfey gksus
okys Nk=kksa dh rqyuk esa mÙkh.kZ gksus okys Nk=kksa dk
izfr'kr nwljk loksZPp gS\

SSC CGL MAINS 29 Jan 2022

(a) C

(B) E

(c) D

(d) B

43. The number of students who passed the

examination from institute C is what

percentage of the total number of students

who appeared from institutes D and E?

laLFkku C ls ijh{kk mÙkh.kZ djus okys Nk=kksa dh la[;k]
laLFkku D vkSj E ls mifLFkr gksus okys Nk=kksa dh dqy
la[;k dk fdruk izfr'kr gS\

SSC CGL MAINS 29 Jan 2022

(a) 56.25%

(b) 54.25%

(c) 58.3%

(d) 52.1%
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44. The number of students who passed the

examination from institute D exceeds the

number of students who appeared from

institute A is x. The value of x lies

between:

laLFkku D ls ijh{kk mÙkh.kZ djus okys Nk=kksa dh la[;k]
laLFkku A ls ijh{kk esa 'kkfey gksus okys Nk=kksa dh la[;k
ls x vf/d gSA x dk eku fuEufyf[kr esa ls fdlds
eè; gksxk\

SSC CGL MAINS 29 Jan 2022

(a) 8 and 11 (b) 11 and 14

(c) 5 and 8 (d) 14 and 17

1. (b)

2. (a)

3. (c)

4. (d)

5. (d)

6. (a)

7. (d)

8. (b)

9. (a)

10. (a)

11. (d)

12. (c)

13. (b)

14. (a)

15. (d)

16. (a)

17. (a)

18. (d)

19. (a)

20. (c)

21. (c)

22. (b)

23. (b)

24. (c)

25. (c)

26. (c)

27. (c)

28. (d)

29. (c)

30. (b)

31. (b)

32. (b)

33. (a)

34. (a)

35. (a)

36. (d)

37. (b)

38. (b)

39. (b)

40. (a)

41. (c)

42. (c)

43. (a)

44. (b)

Answer Key
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